EETFTIRSBARYE 110 24EF —SHE-—RTHNTFEH/B %
e v A BT %k e

e

—~ A AFBRSRR (5606 R4 B2 Y R BRI L)
1 AL T o& K

(1) 8x +16+x= > (2) mlmu&[wmtw _9 = .
3) 52x+7) = o (#) 2(x+2)+5(—4x+1) = .
2. BT HRMERT  BEALSN TN R -
X F 4 -3
6x—9 2(1) 2(2)
2 1 23) | 2%

3. BT AE—R—RTEK

‘w
(1) Sx+4=34>x= > (2) MJ«\QH@ X = °
(3) 14x 8=Tx 14 x = o (@3 (2x—1)=5(x—2) x— :
AMV ml.uﬁ'MHPHl!M: ¥ R = Q@
574 30 2 —

4, FEee P AR S E AR 3 B L5 ATITAERA IS
(Db P88 A x> AREEERRUI B kS FIFHERA o
(24 x KT &T)
DR E THFHEREA D FlE - RAS I
)Ry — A — R F T LT x= .
@ & (D~C) TR A Ddes PREMESRSL o

B

<
R

S, FE - A%BRZAMABC & » Sk C=38° 8] /B~ BB CD=15 8) BD —

R

6. kB ABAHEL LS —8 B CHEGL Loyt ERE > A BC =16 24 » #A4BC &
AR 40 g Rl A SEEE G L 6YiEdk B 0

= TEEE (9% HB¥H35)
7. HrEAEALEBREM AN - X —EE R EWE WRTHESRSE Y L BB
R EAILE  AE AR A FEE y BR) e

TEELE

=

P S

/




ARTEXGARTS 110 SFEEE—SME-RAMFEAE 4
T FalE 1 HE g% whE

8. HEARSERITWHRGFHEE Ol 8 —REBEMBIEE R 105 LEHEEA HEAE NS
62000 7T > % EBB ML RAGEE A FH S0 & B kRS Ao :
O, FTHREBFHELA -~ HASHEEY  LEEES o (REHLARIR)
A (1)

(C) {13

fst
&

AR (159 0 883 )
0. () AW S x B R > TS L 2

bﬁvmhs_&n Qwvmm.fwua AQMIgWxa evmxhxx

3 3
1. ( vmm@.{riﬁ%ijm %i% + RS x=b o T AT S ?
(A)h=0 (BY0<h<1 O b BEE (D) b Bk

12.C ) Fi&F 64 mizk o il H 20 @5 ek o R H 0K 8 DARRLITE 48 @285 REHKY LIz
oo R AT A TE TR 245 - FIARAABRS VA9

(A)32148  (B) 56 18 (C) 64 18 (D) 72 {8
13. () FIEI BT =R F R 55 888192 5o i Fwmh 8% st Ewmk ey FYNSHE > BRI R
Moyl g M EEwRORELEL S
(A) 80 (B) 81 (C) 82 (D) 83
14. ( ) AEEA S SRR MG LERY » FToEaEtea LAR?
(A) (B) (C) (D)
] | | ] H
B || T | | 7
— — i

g~ B (9% BRI )
15, Zmin B8 F 8 mm%m@#umﬁ% Goﬁi DG e ho R BRI 2 AvdEml B 1M AR R 10 FE4k & 30 £

(x BHEAER) FniraampAiLld . #r oo (x5l X 3 AL TR )
16. % 17x+2=21" 2] 68x—8-2 (17x+2) = o o

17. (PR HEEH T AAREELRGHE - RAEA SR FRINABTHAFHYFHE > KOG RT -
& A0 A4 B e

EA BUAR :(10%) AMAALEEL!
7 A HFEE (1%) BEAZEHLE!

F2HIE2H




ARTIXGBERTE 110 2FFEE - RFRE=RTHAIETNHEE

-  mmERE L E W%
EERFR 2RI Ly AAFHFH
%4
=~ B AABRASNR (56% £ 48 HH25 Héh BH3IH)
11, 1Q2). 1(3). 1(4).
2(1). 22). 2(3). 24).
3(1). 3(2). 3(3). 3(4). 3(5).
x= x= X = x= x=
4(1). 4(2). 4(3). 4(4). 5 6.
i3 D
=~ AEE (9% B3 45)
7, 8. 9.
= EE(AS% BE3IL)
10. 1. 12. 13. 14,
@~ Bk (9% B3 )
5. 16. 17.
EAR B AR (109)
18.(6%) T B &5 6 (D @ ® 19.(4%) F B & S BB A 00— F - AD
AR IE. 77 B8 3 S T A%, AEHSA . WAL B (P B
B LRI E d ok LU ISR A F 2 > C 2hag iR Lk
IR B RS 89 = AR B F L)
e
BT ) + R TiLE e
A
W7
P HHEHRB (19%) | :
20, 240 x=3 ZHFEX dax+b=3c ¥ K az 0> LT EA 2ax+3b =9c A= o

F1HKIH




